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(*) lnsiructions to candidates:
lf nu Questions are comPulsory
;i;i;;;t to the risht indicate full marks'

ii LJ" "i 
tcientific calculator is allowed

;i u;; suitable data wherever required

a. When is a digraph an Euler digraph? Draw an Euler digraph'

;. p;;;; ir.l"t 
",7"iir*n"rt"o 

girph has at least one spanning tree

a. When looking at a person's eye coloui it turns out that 1o/o of

peopleinthe-worldhasgreeneyesConsideragroupof20people.
Find

i) Nine have green eyes'

iil At the most three have green eles'. 
.l

b.LetXbettre.continuousrandomvariablewithdensityfunction
f (x) = l. ";;.rn*ir!r='

a) Find ProbabilitY P(1<= I'=Z)
bi Find ProbabilitY P(X<=3)

a. Toss an unbiased die that has six sides. observe the number that

comes on top Cafculate the expected-value and variance

b. ' finO expected value and variance of X

f(x)-li.f'-x)01x12.I o otherwise
Also find the variance for babies'distribution

The heights and weights of a sample of 11 students are:
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a) Calculate the regression line of w on h'

b) Use the regresston line to estimate the weight of someone

whose height is 1.6m.

c) Coefficient of determination

Q5 a. ln a city, during the first 3 months of a year

Weather on next dav

Weather on one day Dry Wef
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Wet 12 8

b.

Find the probability that it will be dry two days after a wet day

finJ ine irrobability it'lrt it will be dry I days after a wet day

patients arrive at the doctor,s office according to a poisson process

with rate A = 1/10 *irri". ft,e doctor will not see a patient until at

least three patients are in the waiting room'

t"i HnJ ir.,* 
"*p".t"J 

*uiting time u-ntit the first patient is admitted

to see the doctor'

i[iwr.,rtl, the probabitity tlrat nobody is adniitted to see the doctor

in the first hour?

Consideracontinuous-timett/arkovchainX(t)withthejumpchain
tfio*n in Figure Assume )t1=2, A2=3 and A3=4'

Find the stationary distribution of the jump chain

Using the stationary distribution of the jump chain' find the

stationary distribution for X(t)'
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